This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 7 - Sighthill-Gorgie

8,375

4

1,676

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Denis DIXON	Scottish National Party (SNP)	1,462
Catherine FULLERTON	Scottish National Party (SNP)	1,567
Ashley GRACZYK	Independent	797
Dan HEAP	Scottish Green Party	1,116
David HENRY	Alba Party for independence	164
Mark HOOLEY	Scottish Conservative and Unionist	986
Ross MCKENZIE	Scottish Labour Party	1,929
Devin SCOBIE	Scottish Liberal Democrats	354
	Total	8,375

Candidate Ross MCKENZIE Elected with 1,929 votes, being in excess of the quota of 1,676

This report contains the transfers results.

# Stage 2 - Surplus of Ross MCKENZIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Denis DIXON	140	0.13115	18.36100
Transfer to Catherine FULLERTON	163	0.13115	21.37745
Transfer to Ashley GRACZYK	172	0.13115	22.55780
Transfer to Dan HEAP	267	0.13115	35.01705
Transfer to David HENRY	46	0.13115	6.03290
Transfer to Mark HOOLEY	189	0.13115	24.78735
Transfer to Devin SCOBIE	508	0.13115	66.62420
No further preference	444	0.13115	58.23060
Not transferred due to rounding			0.01165
	Total		253.00000

This report contains the transfers results.

# Stage 3 - Exclusion of David HENRY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Denis DIXON	34	1.00000	34.00000
Transfer to Catherine FULLERTON	29	1.00000	29.00000
Transfer to Ashley GRACZYK	37	1.00000	37.00000
Transfer to Dan HEAP	16	1.00000	16.00000
Transfer to Mark HOOLEY	12	1.00000	12.00000
Transfer to Devin SCOBIE	18	1.00000	18.00000
Transfer to Denis DIXON	1	0.13115	0.13115
Transfer to Catherine FULLERTON	6	0.13115	0.78690
Transfer to Ashley GRACZYK	7	0.13115	0.91805
Transfer to Dan HEAP	13	0.13115	1.70495
Transfer to Mark HOOLEY	3	0.13115	0.39345
Transfer to Devin SCOBIE	4	0.13115	0.52460
No further preference	18	1.00000	18.00000
No further preference	12	0.13115	1.57380
Not transferred due to rounding			0.00000
	Total		170.03290

This report contains the transfers results.

## Stage 4 - Exclusion of Devin SCOBIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Denis DIXON	12	1.00000	12.00000
Transfer to Catherine FULLERTON	26	1.00000	26.00000
Transfer to Ashley GRACZYK	66	1.00000	66.00000
Transfer to Dan HEAP	75	1.00000	75.00000
Transfer to Mark HOOLEY	93	1.00000	93.00000
Transfer to Denis DIXON	26	0.13115	3.40990
Transfer to Catherine FULLERTON	36	0.13115	4.72140
Transfer to Ashley GRACZYK	88	0.13115	11.54120
Transfer to Dan HEAP	107	0.13115	14.03305
Transfer to Mark HOOLEY	115	0.13115	15.08225
No further preference	100	1.00000	100.00000
No further preference	140	0.13115	18.36100
Not transferred due to rounding			0.00000
	Total		439.14880

This report contains the transfers results.

## Stage 5 - Exclusion of Ashley GRACZYK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Denis DIXON	61	1.00000	61.00000
Transfer to Catherine FULLERTON	163	1.00000	163.00000
Transfer to Dan HEAP	254	1.00000	254.00000
Transfer to Mark HOOLEY	150	1.00000	150.00000
Transfer to Denis DIXON	10	0.13115	1.31150
Transfer to Catherine FULLERTON	15	0.13115	1.96725
Transfer to Dan HEAP	60	0.13115	7.86900
Transfer to Mark HOOLEY	28	0.13115	3.67220
No further preference	272	1.00000	272.00000
No further preference	154	0.13115	20.19710
Not transferred due to rounding			0.00000
	Total		935.01705

This report contains the transfers results.

## Stage 6 - Surplus of Catherine FULLERTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Denis DIXON	1,420	0.07600	107.92000
Transfer to Dan HEAP	166	0.07600	12.61600
Transfer to Mark HOOLEY	25	0.07600	1.90000
Transfer to Denis DIXON	111	0.00996	1.10556
Transfer to Dan HEAP	32	0.00996	0.31872
Transfer to Mark HOOLEY	6	0.00996	0.05976
No further preference	174	0.07600	13.22400
No further preference	71	0.00996	0.70716
Not transferred due to rounding			0.00180
	Total		137.85300

This report contains the transfers results.

## Stage 7 - Surplus of Denis DIXON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dan HEAP	766	0.01483	11.35978
Transfer to Mark HOOLEY	66	0.01483	0.97878
Transfer to Dan HEAP	67	0.00194	0.12998
Transfer to Mark HOOLEY	11	0.00194	0.02134
Transfer to Dan HEAP	785	0.00112	0.87920
Transfer to Mark HOOLEY	32	0.00112	0.03584
Transfer to Dan HEAP	44	0.00014	0.00616
Transfer to Mark HOOLEY	7	0.00014	0.00098
No further preference	737	0.01483	10.92971
No further preference	99	0.00194	0.19206
No further preference	603	0.00112	0.67536
No further preference	60	0.00014	0.00840
Not transferred due to rounding			0.02152
	Total		25.23911

This report contains the transfers results.

## Stage 8 - Exclusion of Mark HOOLEY

1,287.93195

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dan HEAP	207	1.00000	207.00000
Transfer to Dan HEAP	74	0.13115	9.70510
Transfer to Dan HEAP	7	0.07600	0.53200
Transfer to Dan HEAP	29	0.01483	0.43007
Transfer to Dan HEAP	2	0.00194	0.00388
Transfer to Dan HEAP	16	0.00112	0.01792
Transfer to Dan HEAP	7	0.00014	0.00098
No further preference	1,034	1.00000	1,034.00000
No further preference	261	0.13115	34.23015
No further preference	18	0.07600	1.36800
No further preference	37	0.01483	0.54871
No further preference	6	0.00996	0.05976
No further preference	9	0.00194	0.01746
No further preference	16	0.00112	0.01792
Not transferred due to rounding			0.00000
	Total		1,287.93195